LA,

LEGENDEX ROGUE M.O.L.L.E

PRODUCT CODE: MR-80-R-1

l-d-08-dN 30D 1ONAO0dd

80 Series Roof Console Kit

LEGENDEX.COM.AU (07) 3203 2333



CHECK YOUR PACK LIST

Once you have unpacked the system from the box make sure you have all parts that are
listed on the packing list below.

l-d-08-dN 30D 1ONAO0dd

COMPONENTS

MR-80-R-B2 FRONT BRACKET 1 BUTTON HEAD  M4x12 ss 304 5
MR-80-R-B ROOF CONSOLE 1 NUT M4 SS 304 5
MR-80-R-BI REAR BRACKET 1 WASHER M4 SS 304 5
MR-TOY-H-1 WIRING HARNESS 1 BOLT M6x12 SS 304 6
WASHER M6 SS 304 6

TOOLS REQUIRED

4mm Allen Key
Screw Driver

Flat Head Screw Driver

IMPORTANT

e Wear protective clothing including eye wear.

e Clean Hands work best.

» Disconnect the Battery to ensure you don't earth out. Or Use an Auto-
electrician.

LEGENDEX.COM.AU (07) 3203 2333



INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 1

Start with double-checking all the correct components and gathering the tools required.

< THE FIRST SCREW TO REMOVE

STEP 2

l-d-08-dN 30D 1ONAO0dd

First, remove the screw from a
courtesy light panel located at the
top of the front windshield then
remove the panel, once removed
continue to remove the two large
screws from the rear of the Overhead
Dashboard as shown in the images

STEP 3

Allow the overhead dashboard to
hang loose then Slide the roof
console front bracket into place
between the hood lining and the
overhead dash. Aligning the slots
with the rear screw holes

STEP 4

Refit the rear screws and check the
bracket is held securely then Refit the
courtesy light cover

LEGENDEX.COM.AU (07) 3203 2333



INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 5

Remove the cover from the centre
interior light using a flat-head
screwdriver as shown in the image

I-d-08-dN 30D 1DONAO0dd

STEP 6

Remove the 4 factory screws holding
the panel up then remove the panel
by unplugging the factory wiring
harness

STEP 7

Fit the Rogue M.o.l.l.e rear bracket
using the factory screws and 6mm
washers provided.

LEGENDEX.COM.AU (07) 3203 2333




INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 8

Next, Fit the wiring harness -

The wiring harness is colour coded.
Match the blue and red wires, and fit
the earth to the closest mounting
screw on the interior bracket.

I-d-08-dN 30D 1DONAO0dd

STEP 9

Bolt the body of the roof console to

the front and rear brackets installed
earlier, we recommend a loose fit at
this stage of the installation process

STEP 10

Pull the wiring harness through the
interior light cut-out and fit it to the
interior light. Identify the earth bolt on
the interior light to fit the earth cable.

LEGENDEX.COM.AU (07) 3203 2333



INSTALLING YOUR NEW ROGUE M.O.L.L.E

STEP 11

Fit the interior light to the body using
the bolts and nuts provided

l-d-08-dN 30D 1ONAO0dd

b
NOVOTA 12

STEP 12

Align the body of the roof console to
your desired fitment against the roof
lining and tighten the mounting bolts.

STEP 13

Refit the battery cable and test the
interior light functionality

LEGENDEX.COM.AU (07) 3203 2333



NOTES 3
®)
)
c
0
-—
0
o)
)
m
<
7
(0]
?
A
L
THANKS FOR CHOOSING A LEGENDEX PRODUCT
Make sure to join " The Legendex Nation” Facebook group to show off
your rig, share your knowledge and support other legends who share
the same passion for getting off-road and exploring Australia. M
Be sure to follow us on Instagram @Ilegendex and use the RogueMolle

#legendexnation hashtag on your post to be featured!

LEGENDEX.COM.AU (07) 3203 2333



